NEXTSCHOOL
SF3F 3 AEH
ORI ARNARZ —THUNTT N2
10 3 2
D 7=oLy @529 @D LR

ORIZHNT=D LW TT e
9 2 1 2 fEE] % 1
DO v h— @FFEK Q@B AN @B THT

ORI ARAT =)L TCULEADTERILIITETCNETN?
12 1 2
@O TE 5 Q@QHFE Y TERV @TERW

OIENDOEHLTEBIZ, WRRZEEZEINTZZLIEHY FI3h°?
3 4 8
O »HD Q@bHR @7

Ozt sz, FAEWZIZRLELEZN?
3 7 5
ONES AW @By @IE7e LT

OMosZITIEoTWNAZEIEHY 1?2
3 3 9
O H5 @bMnB7eny @72

OZF-oTWNAEXIZ, FIUNCIT T2 T TEELEN?
6 7 2
O =FiFTcbboz Q@b bRny Q=TI T o iz

OLSADZLZNTL DA N—SARBLE LIRS IR TEEIN? 2
10 3 2
O T&D  Q@bhrblwy @TE2RN

ORI ARART —=LTRYIZNZ LITHD FT?
10 4 g3 ]|
D HDL@Ek - b Foh— N2y b SRRl BE AR, ) @720

ORI ARNATZ =)V, ToLWETWTTN?
8 5 2
ORA-¥A @QrHEH5THLYY @QUNET-L< N



